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class Solution {
public:
int maxProduct(vector<int>& nums) {
int n = nums.size();
if (n == 0) {
return 1;

3
int mini = nums[@], maxi = nums[@],ansmin = nums[@],ansmax = nums[0@];
for (int 1 =1; 1 < n; ++1) {
int tempmin = minCnums[i], min(mini * nums[i], maxi * nums[i]));
int tempmax = max(nums[i], max(mini * nums[i], maxi * nums[i]));
mini = tempmin;
maxi = tempmax;
ansmin = min(mini, ansmin);
ansmax = max(maxi, ansmax);

}

return ansmax;

};
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N int solution(int K, vector<int> &A) {

// write your code in C++98
deque<int> gmin,gmax;

int answer = 9;
for (int i = ©, j = ©; i < A.size(); ++i) {
while (j < A.size()) {
while ((!gmin.empty()) && (A[gmin.back()] >= A[J]1)) {
gmin.pop_back();
b
gmin.push_back(j);
while ((!gmax.empty()) && (A[gmax.back()] <= A[JF]1)) {
gmax.pop_back();
T
gmax.push_back(j);
if (A[gmax.front()] - A[gmin.front()] <= K) {

++33
b
else {
break;
b
b
if (gmin.front() == i) {

gmin.pop_front();
b
if (gmax.front() ==
gmax.pop_front();

™

) {

by

answer += j - 1ij;
if (answer >= 1000080000) {
return 1000000000 ;
By
X

return answer;
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class Solution {
public:
int minSubArrayLen(int s, vector<int>& nums) {
int n = nums.size();
int answer = n;
for (int 1 =0, j =0, sum =0, length =0; j <n; ) {//[1..] - 1]
while ((sum < s) && (j < n)) {
sum += nums[j++];

}
if (sum >= s) {
for (Gsum >= s; sum -= nums[i++])
;
answer = minCanswer, j - 1 + 1);
}

}

return (answer >= n)?70:answer;

}s
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7T o
int solution(vector<int> &a) {

D fAl-(X-l)ﬁﬁé‘ {f) int n = a.size(), want = 1;

for (int 1 =0; i < n; ++i) {

L X;ﬁ- } k? if (a[i] == want) {
++want;
}
}
// want .. n must be moved

return n - want + 1;
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D é}‘% int solution(vector<int> &a) {
o : . int n = a.size(), m = 0;
u #&1}’1} 2 fJ ﬁ % vector<int> dp(n + 2, 0); //fEM1..n + 1 FETIREH
| #&X..nﬁ} #h ¥ j\/% for (int i =n-1; i>=0; --i) {

m = max(m, dp[a[i]] = dp[a[i] + 1] + 1);

o [y+l.x-17
$& I 42 IR /5 b L mem
B dp[x]&TAXF4 545
= Bpx,x+ 1,..x +dp[x] — l4&Jf 5 & #
= | & i, dpla[i]] =dp[a[i] + 1]+ 1
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